[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

2 kY 2 L
[*] Q [=] o
g g s 8
=Y . 5 =
g g
= — o
g
. 10 310
3 10
. 10° L
L | E
F L
- 102 L
10
2 T JF 8 pe]
@1 B 1 3 s
| o4 14 @ 15
8 Feacannd ) :
1 0.95[ - + x4 { R
] 0. 2 N N -I...J...\...J...\...’
6 18 20 0 0 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x?
MTTRE st —
N of VEmKERSRRESS, wer siter ep3 =
2 2 R 2
8 s 8 g 8
=10 E107F = =1
) 3 Q
E g0
10* 10°E s
=l
3 3 10%
10 10°E
10%F 102k
!:'. y 10
10 10
o o+ e o o
§ g it § g
0.9 0.
H
0.9 i 09 o,
0.7! s ko tih s 0.8% 0.




	Contents
	Page 1


